TOSHIBA INSTALLATION MANUAL

To Personnel Charged in Installation Work and Service
Wireless remote controller kit

Model: RBC-AXU31-E

» Thank you for purchasing Wireless remote controller kit for TOSHIBA air conditioners.

* Read this manual carefully for correct installation of the wireless remote controller kit
before starting work.

« After the installation is completed, execute a test run to check for normal operation
and explain how to use and maintain the wireless remote controller kit to the customer
according to the Owner’s Manual.

Ask the customer to keep this manual with the Owner’s Manual.

Observe the safety precautions described in the Owner’s Manual of the wireless
remote controller kit, Installation Manual and Owner’s Manual of the indoor unit.

B Accessories

No. Part Name Qty No. Part Name Qty
Signal receiving unit ~ Remote controller
1 | (provided 200 mm control g 1 10 1
vre) - 11 |Battery DO | 2
Mounting bracket (R Remote controller
2 E 1 12 holder % 1
s
3 | Screws M4 x 25 mm Lol 2
o= Screw for remote
13 | controller holder o= 2
4 Screws M4 x 40 mm % 2 M4 x 16 mm o=
Wood screws o= Installation Manual
5 -] 2 14 (This manual) E 1
Spacer o»)
6 4 ,
®® (-9} 15 Owner's Manual E ]
7 | Wire joints =00y =] I
CD-ROM
Cable tie 16 | (Owner’s Manual and 1
8 1
/ Installation Manual)
Pattern template
° 95 mm x 51 mm D L

W Settings for the signal receiving unit before installation

Before installing the signal receiving unit, make the following settings referring to each

description.

« To install the wireless remote controller together with wired remote controller,
configure the “Header - Follower remote controller selection”

* When two or more signal receiving units are installed in a room, a unique address
can be set for each signal receiving unit.

H Installation Location of Signal Receiving Unit

« Do not install in a location where the air contains oil mist, such as in a kitchen or
factory.

« Do not install next to a window, or in any other location directly exposed to sunlight
and outside air.

« Do not install nearby devices which can be expected to produce electrical noise,
such as elevators, automatic doors, and industrial sewing machines.

« If the Signal receiving unit is installed near a rapid-start type or inverter-type
fluorescent lamp (a lamp which does not include a glow lamp), it may not be
possible to receive the wireless remote controller signal in some cases. In order to
prevent interference from fluorescent lamps, leave a minimum of 2 m between the
Signal receiving unit and the fluorescent lamps, and install the Signal receiving
unit in a location where it can receive the wireless remote controller signal when
the fluorescent lamps are lit.

B How to install the signal receiving unit

To prevent electric shocks, embed the wires in the wall and do not expose them.
When installing wires on the wall, be sure to cover them with insulating materials.
Note:

« To avoid malfunction of the remote controller, do not assemble or run remote
control wiring together with the power cables, and do not enclose them in the
same metal conduit.

* When the power unit induces electrical noise, it is recommended that a noise filter
or the like be installed.

Installing into the switch box
1. Insert a flathead screwdriver or
similar tool into the groove, and

remove the lower case. (Fig. 1)

2. Fix the lower case with M4 x 25

mm screws provided. Do not

overly tighten, and use the

provided spacers. If the Signal
receiving unit does not fit in the
wall, cut spacers to adjust the
clearance.

Switch box (Locally procured)

Signal receiving
unit

Lower case

Screw M4 x 25 mm

3. Connect the Signal receiving unit wiring (2-core control wire) with the wires
extended from the indoor unit. (Fig. 2)
(Refer to the How to wire the signal receiving unit.)
Be sure to determine the correct terminal numbers on the indoor unit when wiring
the Signal receiving unit. The Signal receiving unit will be damaged if high voltage
(such as 208 - 240 V) is applied.

4. Reattach the upper case.

Signal receiving
unit

%ﬁg. ) o

Wire housing
(Fig. 2)

Mounting on the ceiling
1. Cut a section out of the ceiling along the provided

paper pattern (95 x 51 mm).
2. Pass the wire through the provided mounting bracket
and insert the bracket into the installation hole. (Fig. 3)

3. Use bracket parts (A) and (B) to securely grip the
ceiling material. (Fig. 4)

4. Connect the Signal receiving unit control wire (2-core)
to the control wire from the indoor unit. (Refer to “How
to wire the signal receiving unit”.) Check the terminal
number on the indoor unit before wiring the Signal
receiving unit and be sure to wire correctly. (The unit
will be damaged if high voltage, such as 208 - 240 V,
is applied.)

5. Insert a slotted screwdriver into the opening at the
bottom of the remote controller. Remove the lower
case from the signal receiving unit.

6. Adjust the provided spacers so that they are several
millimeters larger than the thickness of the ceiling
material. Pass the 2 supplied screws (M4 x 40 mm)
through the spacers and tighten them enough to hold
the Signal receiving unit in place.

7. Return parts (A) and (B) through the gap between the :
ceiling and Signal receiving unit so that they are \
contained in the openings. Then tighten the screws.
Do not tighten the screws excessively. This may result
in damage or deformation of the case.

Tighten to the point where the Signal receiving unit
can be moved slightly by hand. (Fig. 5)

8. Firmly attach the signal receiving unit to the lower

case.

B How to wire the signal receiving unit
<Wiring diagram>

Indoor unit remote 1) White

controller terminal :@I{ﬂ:

block 2% Black
Control wire (Locally procured) J ‘

Wire size 2 x 0.5 to 2.0 mm?

Signal receiving unit

\i‘

Wire joint connection
<Wire joint>
1. Strip the insulation to approximately 14 mm from the ends of the wires to be
connected.
2. Twist together the 2 wires and create a crimp connection at the wire joint.
3. If a special crimping tool is not used, or if the connection is soldered, insulate the
wires using insulation tape.

Indoor unit control wire
(Locally procured)

Control wire from Signal receiving unit \TNire joint (provided)

B Header - Follower remote controller selection

The control by two remote controllers is enabled by installing the wireless remote
controller with the wired remote controller for a indoor unit.

(Remote controller of wireless and wired can be combined one by one in the Group
control. For their installation, refer to the following drawing.)

The indoor unit is operated if either wireless or wired remote controller is set as header
or follower remote controller.

To set either wireless or wired remote controller to the follower remote controller, follow
the procedure below.

* To set wireless remote controller to the follower remote controller.

1. Turn off the indoor unit power supply.

2. Remove the screw on the signal receiving unit cover and then remove the
signal receiving cover.

3. Turn on the bit 4 of DIP switch SW30 on the signal receiving unit P.C. board.

\ ¢

O O

SW30— |:|
(e]

DIP switch [SW30]

4 | ON=follower OFF=header

3 | ON=B OFF=A == g
cE-

2 | Not used SCm- »

1 Not used

Wireless remote
controller kit (Follower)

Wired remote
controller (Header)

Signal receiving unit (Sold separately)

i ‘,7,7,7,7,i, Control wire
(Locally procured)
2x0.5t02.0 mm?

i

|
Remote controller ‘ .
connection terminal ‘

|
block N\ ‘i

AIB
Indoor unit
Earth J;

Group control
Header and follower remote controllers are operable even if they are installed to any
indoor unit.
* Max. length of each remote control wiring between indoor units
(No.1-No.2, No.2-No.3, No3-No.4) : Up to 200 m

Wired remote
controller (Header)

Wireless remote
controller kit (Follower)
Control wire for group control

frlfi;tnal receiving CN,,1 (Locally procured) (Sold "
2 2 0.5 0 2.0 mm?2 21| separately)
/\/
T [ I
Remote ) ) b j i) Ul
controller B B B AlB
connection Indoor unit Indoor unit Indoor unit _ Indoor unit
terminal block No.1 No.2 No.3 No.4
T T ”r T
Earth Earth Earth Earth

B Remote controller address (A-B selection) setting

« Address (A-B selection) must be changed on both signal receiving unit and wireless
remote controller.

« For the details of address change (A-B selection) on wireless remote controller, refer
to the owner's manual.

* When two or more signal receiving units are installed in a room, a unique address
can be set for each signal receiving unit to prevent interference.

1. Turn off the indoor unit power supply.

2. Remove the screw on the signal receiving unit cover and then remove the

signal receiving cover.
3. Turn on the bit 3 of DIP switch SW30 on the signal receiving unit P.C. board.

B Test run

Operate the unit with the wireless remote controller as usual. For the procedure of the
operation, refer to the attached Owner's Manual. A test run can be executed in the
following procedure even if the operation stops by thermostat-OFF. In order to prevent
a continuous operation, the test run is released after 60 minutes have passed and
returns to the usual operation.

1. Turn on the power of the air conditioner. When power is turned on for the first time
after installation, it takes approx. 5 minutes until the remote controller becomes
available. In the case of subsequent power-on, it takes approx. 1 minute until the
remote controller becomes available. Execute a test run after the predetermined
time has passed. .

2. Push “ON/OFF” button on the remote controller, select [ 3¢§ Cool] or [ O Heat]
with “MODE” button, and then select [ ---.- HIGH] with “FAN” button.

Cooling test run

Heating test run

Set the temperature to 17°C with the temp.
setup buttons.

Set the temperature to 30°C with the temp.
setup buttons.

Cooling test run

Heating test run

After confirming a signal receiving sound “beep”
immediately set the temperature to 18°C with
the temp. setup buttons.

After confirming a signal receiving sound “beep”
immediately set the temperature to 29°C with
the temp. setup buttons.

Cooling test run

Heating test run

After confirming a signal receiving sound “beep”
immediately set the temperature to 17°C with
the temp. setup buttons.

After confirming a signal receiving sound “beep”
immediately set the temperature to 30°C with
the temp. setup buttons.

6. Repeat procedures 4. — 5. — 4. — 5. Indicators “Operation” (green), “Timer”
(green), and “Ready” (orange) in the wireless receiver section flash in approx. 10
seconds, and the air conditioner starts operation. If any of these indicators does not

flash, repeat procedures 2. to 5.

7. Upon completion of the test run, push “ON/OFF” button to stop operation.

<Overview of test run operations using the wireless remote controller>

V¥ Cooling test run:

ON/OFF — 17°C — 18°C — 17°C —» 18°C —» 17°C—

18°C — 17°C — (test run) - ON/OFF

'V Heating test run:

ON/OFF — 30°C — 29°C — 30°C — 29°C — 30°C—

29°C — 30°C — (test run) - ON/OFF
B Others

How to handle the remote controller

* To set the remote controller on the wall

Push “ON/OFF” button at the installation position on the wall to check that the signal
from the remote controller is received correctly.

Flat head
wood
screw

Remote
controller holder

* Loading Batteries

1. Remove the battery cover.

2. Insert 2 new batteries (R03 or LR03
[AAA]) following the (+) and (-)
positions.

Self-diagnosis function

Wireless
remote controller

« For details of indoor unit trouble, refer to the Installation Manual of the indoor unit.

Notes on installing remote controller

« When using a wireless remote controller in the remote controller holder on a wall,
turn on a fluorescent light or equipment emitting infrared rays (Electronic whiteboard
etc.) and operate the remote controller at the installation position. Make sure that the
air conditioner operates normally and then secure the remote controller holder on the

wall.

* When installing a remote controller that senses room temperature with the sensor,

avoid the following places.

« A place exposed to direct cool air, warm air or direct sunlight

« A place subject to thermal effects

» The supplied remote controller cannot be used as a wired remote controller.

Explanation to the customer

« After the installation work has been completed, execute a test run to check for normal
operation and then hand the customer the Owner’s Manual and Installation Manual of

the wireless remote controller kit.

« Explain how to use and maintain the wireless remote controller to the customer
according to the Owner’s Manual of the wireless remote controller kit.

EB99842301 (EN)



TOSHIBA =%+
R ERRARE A R EF
KERREY

a2 . RBC-AXU31-E

 BOBHMENSE TOSHIBA AL LEREE .
c ATEEMBEMTETLEREES, BELENTADEAFM.
« RETERMG, BHTIRZT. BRI NESZT, KERBAFFREARR

BRanfaE AR LB RRES-

FLRPRBEFRMARFWRE—E.

WETLESSEGOAPFHN, EANCEFROAAFRERPHLLEEFI.
LiNes

HS BB BE| &S BB BE

1 [t 200 mm 512%) !

EEEUEER 5 10 |EE#E
1

1|t —>D | 2
R K BERRE
2 E - % 1
s
3 [#BZ M4 x 25 mm =1 SEEREEE
4 |BBZ M4 x 40 mm [ B 13 | M4 x 16 mm .| 2
5 | = | o |EETR RFH) E 1
%
s |27 oo ¢ | [, [FrFEm E 1
B Y = |,
CD-ROM
AL 16 | (AP FMmEET 1
8 1
_ = #)
9 TR D ]

95 mm x 51 mm

B ZEAESREEENRTE

TRESHUEEN, BRESTUBHTN TRE.

- BEANTELABEBMELENE, BT - AEEE8E" .

- LEAREERN SIS MESBREEN, UARESHERELE Kl
H.

B ESEKRENREMNE
- INREETTREEABHT, MERRT .
INREERLE P N EERE T AR SR TS0
- MIREAEAT R RIREOREIGL, ek, AE AT LS.
- MRESHUKERREERREDRICEI NI (LB R —
D) MHE, ERLER TR ERNTLERBES. YIOIA%RM, &b
TRHIERTHTR, BEGESHKERMAAIZBREHED 2 m BZE, R
BRI RN TAE LSS ES T TGS REE.

B I REESEUEE

AT, B NEER, YIS HBEEN.

eI E R, 1B S W RSV RE R LS.

FE

ATREERRME, VIIHERSBELERRLAERNESRT &, BED%
BMZHER—&BEEF.
LERRETABIRE, ENRRBRERERIEMNLE.

RELEFRIER

1. BBz T T AR NER
AREHTRER. (B 1)

2. FHRHAY M4 x 25 mm 122 [E R E o
PR R, BEARMRNE .
MR ESHEUEBTERNEEE,
BRI A ROREE .

ESENEAEY)

FSEUEE

#8222 M4 x 25 mm
3. BESEURENSY (ML) SEANNERGERER. (B2
(BB RESBREENLRER.)
BTE S B ERAMES UIAZ Y E ERARETH. NREATRE
(40 220 - 240 V), ESEUEEEBSEIRT.
4. EFRRENER.

5 L]
(]
L — @
S
& 2

R L

1. RBIRMAOER (95 x 51 mm) ATREILETIH—BR.

2. BESNRHIRERTY, REHREFRNZLLER.
(E3)

3. [EFEMAHE (W) M /), KHEFEEEIMMRT. (B ///ﬁW#%>
4)

4. BEESHEWEENESY (L) EREENEZ.
(ESIAESHIEENSRIERE.) TESHUEEELY
BIAZ RN T, REBREEER.
(MBERATEE, 10220 - 240V, EBHSHIRIT.)

5. BPSARL TIE N BB O, WSSHIEE te
TRER,

6. IRHRMABE  EEL TN RNERES HLEX.
HREULMAIEL (M4 x 40 mm) RS REERIEY
NHEE SRS,

7. BB (A) 7 (B) ARG SHEURE 2 B HEEFA
We RIEITRIEZ,
NIRRT R, BNUFAESSBEMBRTR.
2227 E AT R RB ol SRR ERN AT,
(& 5)

8. WREME L ESHIEE.

B N TESREEERSL
< B >

ERHIB LSS T B 1ol ae [
EEUEE
z@ﬁx@;ﬁ —
24 (LX) J ‘

s b 2
HUR<T 2 x 05 2 2.0 mm s

< LBEESL >

1. BREERNARRALINE NKHHEL 14 mm.

2. WEIREGITIE— I, RIETELG RO ITER.

3. MERBEARKNERTIE, SUMEATER, BEMAALHREASLL.
ENALIE I
(HHhlgsL)

S

BESRUEEEREGI% st (D1RAY

W I - BB ERRE

EA—BEAN BN RETLERRMBELERR, NATERHMEERAITIRGHR
=

(AIERAES T TLMERERBE—AE. XTHEREK, B2ETHE.)
MRBTLNELEERREATHREER, WEAVHET.

ER LA LERFREANRELES, BRENTSREE.

« BR&EEFREARIBER.

1. KAEANBIRE.

2. BTMESEKRES FHEZ, ARRTHESENS.
3. MRS EW BRI BER E DIP FF35 SW30 B9 4 fif.

u —

SW30—

15 FF % [sw3o]

4 | ON=FE#ESE OrF= HiERRE
(= b P
3 | ON=B OFF=A c=-(2
EYT =]
1 | KMEA
FLEBERENR BLIEERR
(BlBIER) (FERE)
ESEBEE (BE)
[
i . , N
fffffffffff —|| O (ubms)
\\ 2x 05 & 2.0 mm?
EOERAMTIR ‘Hl‘
[AIB]
s ] ZAHL
.
b= 2zE |
TEIBRBREGIM— S E WY LRI TIRE.
* BAFLZ B ERHFARAKE
(No.1-No.2, No.2-No.3, No3-No.4): &3} 200 m
TLEBEEEN BLBERER
(BIBIRER) (FEE=ER)
s
fRsticiE [ CNI (313 (B8)
< 2x 05 & 2.0 mm?
e ~
ERIREA TR || (’\) [ | i
= B i
B B B A|B
1 SERN 2 SERM 3EEAN| T |4SEAN
i i i Hetth
W EEES M (A-B %) BE
- EESEKEBMALERE FHV/AFE N (AB %),
« BRATLER FEXUbIE (ABIER) MIEERE, BSARRFM.

c HERRETHNSESNMESREEEN, ATHIEEETR, 8MESEREEERR
BURE —MRA it

1. KHAEREE.

2. T ESHEKERERS bR, RAERTRESERE.

3. FTFE S W B EN RIEE & 4R Lk DIP FF 5% SW30 B9 3 fiL.

W i{iETT

REE AL EBEREREAY. BXRBESE, BSHMEMNARFM. BMERERRE

OFF SEUR(EELL, BARBRNTLSRIVTIHIZEIT. A LELIRE, 233 60 HH/E,

WRERISIZIT R = E R,

TSR, REEERITHGRN, AOBESE 5 SHATEMELS.
WEFERER, NAXNTRESR | AT MERS. EREHETEZEH
FitiEeT. ,

2. HRESEEH CONOFF™ fR$, i "MODE" HesRis® [ XX #0% 1 [ OF 4l
#, AEET CFAN 295 (el

Hl& BT
FRERERAKBERA 177 C.

HIAIR BT

FIRERERBHIREIRHN 30" Co

H& BT HFRIBEIT

WNREESEKE w5 IRARER | BANEESEES W B, IBAERER
BRAKREIRA 18" Co BIRBEIRERN 297 Co

HL BT HIAXIBEIT

WINTEMESEKE "B B, ZARESR | BANRESEKE M 5, LBARES
BIRAKREEAN 17° Co BIRAREIR N 307 Co

6. EEH K 4.~ 5.~ 4. 5. TEABURTHH “RE (&B). "TENE" (&
@) M T (BE) BRI KRARE 10 D, EESENTRET. mRxe
R EM— N TRAE, EEESBE2ZE 5.

7. B TG, B CONJOFF” iRfE 1Bk,

< BT LBERHFITIRSITIRIEMR >

V¥ H&RIETT:

ON/OFF - 17° C > 18" C—> 17" C— 18" C = 17° C—
18° C— 17° C — (iiz1T ) — ONJOFF

vV HIRIRIETT -
ONJOFF — 30° C — 29° C - 30° C— 29° C — 30° C—
29° C — 30° C — (ifizfT) — ON/OFF

W Hfth

AT PRI 2R
cBERBREAERL
TR EMERT "ONOFF" 124, WNEEHRFESHKES.

ol <

BRI

R -IN: izt

1. ETREMAS R

2. 1288 (+) AN ) W EREAN
FI M (RO3 8 LRO3 [AAAD).

BLRERSE
e

BiSHRThaE

c BRENNBENFAGE, BSHENNBRETN.

REEEBFNETEW

< BRABIRRRMAEEE CHOERRRE T E AN, FIARRENERNTOUT SR A
Zring (RFERE) BREEREES. BRTENERZT, REMEREEEE
EsS- iy

» TRMNERBRNERHEZSRN, BREMTHE.
c RES, AETEBERESKHESHIMTT
« RN TS
« MRS R F A B RS

Xt F P I ER

» TRIETRE, FRITIHIET, BUNBRTINERIET, RERTLEEREGHA
PFERMREFNRLRF

« RIBLAEREFZEGH AR FMEE - R 6 B R4 TR R

EB99842301 (ZH)



